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UBEALR 22| 2| AL 0.00 0.00 0.00 0.00
B8 0.00 0.01 0.00 0.01
C-Ple 7| EfH| g 2 0.00 0071 0.00 001
oy o Ctoiol, S7He=+E 0.00 0.00 0.00 0.00
SN ANEHET S 0.00 0.00 0.00 0.00
. MH|A =&
TTE SHA| 0.00 0.00 0.00 0071
SHH A 0.00 0.00 0.00 0.03
K2 &AL 0.04 0.01 0.04 0.01
ZOf 3| AL 0.00 0.00 0.00 0.00
HEX AR S| AHAEF R 0.01 0.00 0.01 0.00
UBEALR 22| 2| AL 0.01 0.00 0.01 0.00
B8 0.05 0.01 0.06 0.02
C-P2e 7| EfH| & 2 0.02 0071 0.02 001
oj o Ctoiol, S7Hs=+E 0.00 0.00 0.01 0.00
SN ANEHET S 0.01 0.00 0.02 0.00
> MH|A 242
TTE SHA| 0.01 0.00 0.03 0071
SHHE A 0.02 0.00 0.10 0.03
XA &AL 1.23 0.01 1.29 0.01
EHOf 3| AL 0.00 0.00 0.00 0.00
HEX A S| AHAEF R 0.31 0.00 032 0.00
UBEALR 22| 2| AL 0.31 0.00 032 0.00
B8 1.84 0.01 1.93 0.02
e 7| EfH| & 2 0.77 0071 0.79 001
oj o Ctoiol, S7Hs=+E 0.13 0.00 0.42 0.00
SN EAME_Q %f s 0.23 0.00 0.53 0.00
. qH|A =&
TTE SHA| 036 0.00 0.94 001
SHH A 0.54 0.00 3.40 0.03

* HEO| 2 XtAEOH(7|ZHE R Cf
+ 7|EfH| 20| 2t 3|7

]

LHEHRA LT,
|EF X ZHHIE 5 HEOM ZYHUEHOZ XEE HELZM Ojof-S/H++EE MASAYLICH

A
TR gl

T

X EREO| Fe BHEOM SMT HIES AMHEET AX|SHE HIEHZ 2H25t0] et XYL T
> SE4, HIEHE

&8+, HEHE BE SOl &7t HEE S FEHT B2 HI82| +F2 HE =Xt AFTYof Cst HIEZ ol & + ASLCL

2 | E+H8HEAN | oS Her=HEE) T 2 7(A+B)
= H7| 0.0233 0.0118 0.0351
FE O Zt2AOEQIHA[FA] 28
71 0.0227 0.0293 0.052
H7| 0.0566 0.0119 0.0685
C-Ple
71 0.0543 0.0291 0.0834
H7| 0.0842 0.0119 0.0961
C-P2e
71 0.0836 0.0288 0.1124
c 7| 0.0852 0.0118 0.097
-e
71 0.0845 0.0293 0.1138
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